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1 Fohy B4 BEEX Bl R5.01. 04 B3 (L1.6) RHET (K1.7) RHEET (£1.9)
2 |[+H4=E FZih BEBEX KK R5.01. 04 RHET (L2.1) RHET (L2.3) RHEET (£2.9)
3 Hh') 257 — FZih BEBEX FNA R5.01. 04 B3 (L2.5) RHET (K2.7) RT3 (L2.5)
4 [ X B4 BEBRX /Mt R5.01.04 RHET (£1.9) RHET (L1.8) RHEET (<9.7)
5 [X B4 RETX B R5.01. 04 RHE3 (L1.8) RHET (L1.9) RHEET (L2.6)
6 [2X EES BEX XKF R5. 01. 04 REET (<2.4) RHET (£2.2) RHEd (<18.6)
7 |aX EES ERTX HE R5. 01. 04 REEg (<1.7) RHET (<2.4) RHEd (<11.8)
8 |[aX B4 BRETX 4% R5.01.04 B3 (£2.0) RHET (L2.3) 3 (<5.5)
9 |[AX B4 RETX #H R5.01. 04 RHET (L1.7) RHE3 (L1.5) RHE3 (<5.8)
10 |2 X B4 REIX E5F R5.01.06 BT (L1.8) RHET (L2.4) Rt d (<5.6)
11 [AX B4 ERX E5F R5.01. 06 RT3 (L1.8) RHET (L2.2) BHEd (L12.9)
12 Thy B4 FEEX KKF R5.01. 06 RT3 (<6.4) RHET (LT1.1) BrHEd (L7.9)
13 [ X B4 RETX 9% R5.01. 06 RHEET (£2.3) RHET (L2.2) BHET (L13.4)
14 LR R R ERX E5F R5.01.06 RHEET (L2.6) RHEd (<3.7) R tEd (<3.9)
15 [\ kDY) HEE% ERX E5F R5.01.06 RHEET (L£2.0) RHEd (L2.5) RHEd (<2.6)
16 |h5TF B4 REIX E5F R5.01. 06 RHE3 (L1.5) RHET (£1.9) RHEd (<1.8)
17 |2 X B4 BEBEX IE R5.01. 06 RHEET (L2.7) RHET (L2.7) RHEd (<8.1)
18 |2 X B4 BEBEX IE R5.01. 06 RHEET (L2.4) RHET (L2.3) BHE3 (L£10.3)
19 |2 X B4 BEEBX IE R5.01. 06 RHEET (L£2.0) RHET (L2.6) R Ed (<3.1)
20 |2HhY B4 BEBEX FA R5.01. 06 RHE3 (<6.5) RHET (L71.2) RHEd (<8.1)
21 | X B4 BEBEX FA R5.01. 06 RHEET (L3.1) RHE3 (<£3.5) RHET (<4.2)
22 |2X B4 BEEX /Mt R5.01. 06 RHEET (L2.7) RHET (L2.6) RHEd (<3.7)
23 | X B4 BEEX /Mt R5.01. 06 RHEET (L2.6) RHET (L2.8) RHEd (<2.7)
24 |2 X B4 BEEX /Mt R5.01. 06 RHET (<3.2) RHET (<3.4) BHEd (L11.1)
25 |2X B4 EEX XJIE R5.01. 06 RHEET (L2.7) RHET (<£3.2) R Ed (<9.2)
26 | X B4 EEX XJIE R5.01. 06 RHEET (<3.2) RHEd (<3.7) RHEd (<4.2)
27 | X B4 RETX #H R5.01.06 RHEET (L2.7) RHET (<£4.0) e d (<5.9)
28 |2 X & FERTX #%H R5.01. 06 RHEET (£2.9) RHEd (L2.3) R tEd (<3.5)
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29 _[2X BE RETX K% R5.01.06 REET (<2.1) REET (<81 ‘s (<4.0)
0 =S it EBX TE R5.01.06 REET (<3.2) RS (<3.5 ‘s (<3.2)
3_|Footq it EBX TE R5.01.06 REET (<3.2) REET (<3.8) ‘s (<2.9)
I PEY: it EBX TE R5.01.06 REES (<3.1) REET (<3.9) ‘S (<3.5)
TP EES EBX T% R5.01.06 REET (<2.3) REET (<2.4) ‘s (<5.4
I EWS EES ESX FK R5.01.06 REE S (<1.8) REET (<1.8) ‘s (<6.7)
3 _[1X EES ESX /MM R5.01.06 REES (<1.1) REET (<2.2) ‘s (<5.5)
36 [1X EES ESX LT R5.01.06 REET (<1.3) RS (<1.6) ‘s (<1.8)
A WS EES ESX LT R5.01.06 REE T (<3.5) REET (<8.2) ‘s (<3.4
38 _[1X EES EBX T R5.01.06 REET (<2.1) REET (<3.4) ‘s (<3.1)
39 [2X EES RETX Et&T R5.01.12 REET (<2.1) REET (<2.0 ‘s (<2.3)
0 [2X EES FETX E&F R5.01.12 REET (<2.1) REET (<3.0) ‘s (<7.5)
TERZ P EES FETX E&F R5.01.12 REET (<2.2) REET (<2.2) ‘s (<2.9)
VES P EES FETX E&F R5.01.12 REET (<2.4) REET (<3.0) ‘s (<3.2)
3 |ForoHq it RETX 5T R5.01.12 REET (<2.1) REET (<3.0) ‘s (<3.8)
4 _|hJ it FETX E&F R5.01.12 REET (<2.5) REET (<2.3) ‘s (<3.2)
[ WS EES RETX 5T R5.01.12 REET (<2.5) REET (<2.6) ‘s (<5.1)
46 _[1X EES RETX Eit&T R5.01.12 REET (<2.5) REET (<2.9) ‘s (<3.3)
47 _[ax EES RETX Et&T R5.01.12 REET (<2.1) REET (<21 ‘s (<2.4)
48 _[1X EE3 RETX 2 R5.01.12 REE S (<1.6) REET (<2.2) ‘s (<6.0)
29 [2X EES EEX ES R5.01.12 REET (<3.1) REET (<4.2) ‘s (<3.6)
50 [2X EES ESX @A Rb.01.12 REET (<2.9) REET (<81 ‘e F (<3.6)
512X EES ESX mmA Rb.01.12 REET (<2.4) REET (<3.0) ‘s (<3.6)
52 _[2X EES ESX KE R5.01.12 REET (<2.3) REET (<2.2) ‘s (<40
532X EES EEX LiFE R5.01.12 REET (<3.4) REET (<3.3) ‘red (<41
542X EES BEEX LihE R5.01.12 REET (<2.1) REET (<81 ‘s (<3.8)
551X EES EBX HhE R5.01.12 REET (<2.5) REET (<3.2) ‘s (<2.5)
561X EES ESX T R5.01.12 REET (<3.3) REET (<3.9) ‘s (<3.9)
57 _[2X EES ESX iFH R5.01.12 REET (<2.4) REET (<8.3) ‘s (<3.2)
58 |[=vSv it ESX iFH R5.01.12 REET (<3.3) REET (<81 ‘s (<3.3)
59 |73r it ESX iFH R5.01.12 REET (<11 REET (<91 ‘s (<8.1)
60 [FoXr oA it ESX iFH R5.01.12 REET (<3.3) REET (<8.2) ‘s (<3.8)
612X EES FESX fHL R5.01.13 REET (<2.4) REET (<3.0) ‘s (<3.2)
62 [1X EES FESX fHL R5.01.13 REET (<3.0) REET (<3.0) ‘s (<3.1)
6B =S it ESX BT R5.01.13 REET (<8.1) REET (<1.8) ‘s (<8.3)
64 _[>ao%s it ESX BT R5.01.13 REET (<1.9) REET (<9.8) ‘s (<8.8)
6 (2T it RETX % )IIE R5.01.13 REET (<3.3) REET (<2.3) ‘s (<3.7)
66 [1X B4 TRETX %)IIE R5.01.13 REET (<2.8) REET (<3.0) ‘s (<5.3)
67 _[2X EE3 RETX % )IIE R5.01.13 REET (<3.0) REET (<3.6) ‘s (<5.4
681X EE3 RETX R5.01.13 REE T (<3.5) REET (<3.4) ‘s (<3.8)
89 [5ho EE3 FRETX R4 12.13 REE S (<1.8) REET (<1.9) ‘s (<2.0)
I EPZ P EE3 RETX R5.01.13 REES (<1.8) REES (<11 ‘s (<2.0)
_[2X EES EEX ES R5.01.13 REES (<1.D) RS (<2.4) ‘s (<2.6)




AIEFEE (Ba/ke)

No BEDA BT RES AR KA E 3% —131 o L—134 o L—137
REE GRERF) AEE RERF) RIEE (REREF)

722X BE ESX JLERY R5.01.13 REET (<2.6) REET (<2.9) ‘s (<3.2)
B =S i REX &8 R5.01.13 REET (<2.1) REET (<41 ‘s (<3.5)
IEPE P EES RETX JL/ER R5.01.13 REET (<2.0) REET (<2.0 ‘s (<2.8)
752X EES EBX JLE R5.01.13 REET (<2.0) REET (<2.8) ‘s (<2.2)
6 _|[SX7 it RETX JL/E R5.01.13 REET (<2.8) RS (<3.5 ‘s (<3.7)
T_|Foro94 it RETX 2 R5.01.13 REET (<3.2) REET (<3.4) ‘s (<3.9)
EESS it ESX BT R5.01.16 REE S (<1.8) REET (<2.4) ‘s (<2.3)
79 [2X EES EEX LiFE R5.01.18 REET (<2.0) REET (<21 ‘s (<8.0)
80 [1X EES ESX JLERH R5.01.19 REE S (<6.1) REET (<6.4) ‘s (<1.0)
81 _[2X EE3 REX R R5.01.19 REET (<2.5) REET (<3.3) ‘s (<7.3)
EES i BT X R R5.01.19 REET (<2.6) REET (<21 ‘s (<2.5)
83_[1X B4 REX R R5.01.19 REET (<2.4) REET (<2.1 ‘red (<41
84 [1X EE3 REX R R5.01.19 REET (<2.4) REET (<2.9) ‘s (<7.6)
8 _[1X EES ESX BT R5.01.19 REET (<1.9) REET (<2.0 ‘s (<2.3)
86_[1X EES BB X L R5.01.23 REET (<2.6) REET (<3.0) ‘s (<2.7)
S EYS EE3 T BT X {E FR R5.01.26 REET (<4.5) REET (<4.2) ‘s (<5.7)
88_[1X EE3 BT X {E HR R5.01.26 REET (<3.2) REET (<3.0) ‘s (<3.5)
I ES EE3 TRET X [ 4 I R5.01.26 REET (<2.4) REET (<21 ‘s (<8.9)
0 _[2X EE3 BT X [ 4 I R5.01.26 REET (<2.3) REET (<21 ‘s (<5.0)
9_[2X EES ESKX /it R5.01.26 REET (<1.9) REET (<2.2) ‘s (<8.4)
92 _[2X EES ESX /it R5.01.26 REET (<1.9) REET (<2.6) ‘s (<3.4
93 _[2X EES ESX /it R5.01.26 REE S (<1.8) REET (<21 ‘s (<3.6)
% [hU> EES ESX /it R5.01.26 REET (<2.4) REET (<2.4) ‘s (<2.1)
% _[2X EES ESX BT R5.01.26 REET (<1.3) REET (<1.3) ‘s (<3.7)
% [YRz7 it BT {E R R5.02.02 REET (<2.5) REET (<2.8) ‘s (<3.2)
9 [FA4a> it ESX mmA R5_02. 01 REET (<1.5) REET (<1.9) ‘s (<2.1)
98 [hJ it ESX @A R5_02. 01 REET (<1.9) REET (<1.9) ‘s (<2.7)
99 [2X BE BEBX & R5.02.01 REES (<5.1) REET (<61 ‘s (<5.8)
100 |[FoZFotA Eith BT X P ET R5.02.09 REES (<3.1) BHEET (<3.0) REET (<3.5)
I ESS EES FETX T AH R5.02.10 REET (<2.2) BEET (<2.2) REET (<3.0)
102 |[2X EES FETX T AH R5.02.10 REES (<1.1) BEET (<2.0) BHEET (<10.1)
103_[HhJ Bith ESX XM R5.02.20 REET (<2.0) BEET (<2.4) REET (<2.8)
104 |=>SY Eith ESX XM R5.02.20 RHET (<2.7) BEET (<3.4) REET (<2.4)
105 |[H=—L4&X MEE% ESX KkH R5. 02. 20 RHEY (<2.6) BRHEET (£2.6) FRHET (<2.9)
106 |S X+ 1% ESX kH R5.02.20 REET (<2.9) BEET (<3.7) REET (<3.6)
107 |=>>> Eith EBX /it R5.02.20 RS (<6.6) BEET (<9.0) REET (<9.2)
108 [#<*+% % ESX BT R5.02.24 REET (<2.2) BEET (<2.0) REET (<2.2)
109 [2X EES RETX & R5.02.24 REES (<2.1) BHEET (<2.0) BHEET (<16.7)
110 2991484 it FETX 5T R5.02.24 REES (<3.1) BHEET (<3.6) REET (<3.1)
1 |[yRsT it FETX 5T R5.02.24 REES (<3.1) BHEET (<3.8) REET (<3.6)
112 |[7H9v* Bith ESX Lt#E R5.03.02 REES (<7.8) BHEET (<8.8) REET (<1.9)
113 |[7H9v* Bith FETX JLEF R5.03.02 REET (<2.9) BEET (<3.0) REET (<3.4)
114 |n=v=0% Eith RETX KR R5.03.16 REES (<3.4) BHEET (<2.3) REET (<4.2)




AIEFEE (Ba/ke)

No BEDA BT RES AR KA E 3% —131 o L—134 o L—137
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115 |[YHRs7+ it JRETX KR R5.03.16 REES (<2.2) BHEET (<3.4) REET (<3.2)
116 |Fo7otA Bith JREX KR R5.03.16 REET (<3.2) BHEET (<3.3) REET (<3.4)
17 |[L&ZX Bith ESX /it R5.03.16 REES (<3.0) BHEET (<2.5) REET (<3.4)
118 |E&S>F Eith EBX /it R5.03.16 REE S (<2.8) BHEET (<2.4) REET (<3.6)
119 |Fyshy EES EBX /it R5.03.16 REES (<3.4) BEET (<4.0) REET (<4.2)
120 (NG54 Bith FETX 2 R5. 0317 REES (<1.1) BHEET (<1.5) REET (<1.8)
121 [RoUF Eith JRET Xt 37 R5. 0317 REET (<3.3) BHEET (<3.8) REET (<2.1)
122 [RFvITUFY 1% ESX BT R5.03.22 RHET (<2.6) BEET (<3.2) REET (<3.6)
123 |=>>> it EBX FHhZE R5.03.23 REE S (<2.5) BEET (<2.7) REET (<3.0)
124 YRz Bith ESX /UM R5.03.23 REET (<2.0) BHEET (<2.5) REET (<2.1)
125 |FoFotA Bith ESX /UM R5.03.23 REES (<7.8) BHEET (<8.0) REET (<8.2)
126 [h5>7 Bith REX 5% R5.03.23 REES (<2.6) BHEET (<2.6) REET (<3.3)
127 A7 it RETX Eit&T R5.03.23 REET (<3.0) BHEET (<3.2) REET (<3.9)
128 |[h*xT = ESX AN R5.03.23 REES (<2.6) BEET (<2.7) REET (<2.1)
129 [h5>7 EES EBX AN R5.03.23 REES (<2.3) BHEET (<2.7) REET (<3.2)
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